BEREER

Lt=10780
1076 2000 210 2300 1234
— n BEBTER
| 1 B N P
— ik CEEPURINE S
b Lo |
MOmH | RAEE St (/) S8 (/i
= 0 | 50 ] 100 | o | s | 100
a'b a'b a'h a'b a'h a'b
hh_L 1 ; 51 60 | 50 | 500 | 40 | 40 | 410
g o j 5 | 60 | 500 | 50 | 410 | 410 | 410
BEKX
Lt=10780
20 5012 5128 20 {E}
=
‘ - ==l | E
o | |
7 Z / =277 | S
L#ii LL%J Lo fo | I b | Lo | Lo | | a | [
61 D1=0603.2 61 {E}
RIEROBE 1018 20 21 — 1234 tMavy - MEEEROBE EEE
£ E RS RHEE I%% i | 8 El # 3

& Iz

WREA ) YHH
B I HERE h—R—F FYr—2R TV I3 B 8 #HLEE ap
B 00847 BEEy b KE 515120 L A e ® f5T-A1

\:ﬂ




